

Burden Computation - Business Forms

April 1, 2008

Page 1 of 1

Product: 2290/

Description: Heavy Highway Vehicle Use Tax Return

Variables	2005	Changes (+ -)	2008
Responses.....	550,000	+39,000	589,000
Line Items.....	155	+18	173
Attachments.....	0.00		0.00
Forms Prepared..	0.85		0.85
Code References.	4		4

Computation of Changes

Old Computation (Prog. Change)	589,000	x	38.48	=	22,664,720
New Computation.....	589,000	x	42.86	=	25,244,540
Balance...					+2,579,820
Old Computation (Adjustment).	550,000	x	38.48	=	21,164,000
New Computation.....	589,000	x	38.48	=	22,664,720
Balance...					+1,500,720
Old Computation.....		x		=	
New Computation.....		x		=	
Balance...					

Summary

Old Burden.....	21,164,000
Program Change.....	+2,579,820
Adjustment.....	+1,500,720
New Burden.....	25,244,540

Paperwork Reduction Act Notice

Time Per Response	Average Hours Per Response	Average Time Per Response
42.86		
Recordkeeping.....	41.37	41 hrs. , 22 min.
Learning.....	0.40	0 hrs. , 24 min.
Preparing.....	1.09	1 hrs. , 05 min.
Sending.....	0.00	0 hrs. , 00 min.

Notes:

Added 18 line items to correct previous calculation and responses increased to reflect the Statistics of Income (SOI) updated projections attained by the Tax Law Specialist (TLS).

Burden Computation - Business Forms

April 1, 2008

Page 1 of 1

Product: 2290-FR/

Description: Declaration d'Impot sur L'utilisation des Vehicules Lourds sur les Routes

Variables	2005	Changes (+ -)	2008
Responses.....	10,000		10,000
Line Items.....	155	+18	173
Attachments.....	0.00		0.00
Forms Prepared..	0.85		0.85
Code References.	4		4

Computation of Changes

Old Computation (Prog. Change)	10,000	x	38.48	=	384,800
New Computation.....	10,000	x	42.86	=	428,600
Balance...					+43,800
Old Computation (Adjustment).		x		=	
New Computation.....		x		=	
Balance...					
Old Computation.....		x		=	
New Computation.....		x		=	
Balance...					

Summary

Old Burden.....	384,800
Program Change.....	+43,800
Adjustment.....	
New Burden.....	428,600

Paperwork Reduction Act Notice

Time Per Response	Average Hours Per Response	Average Time Per Response
42.86		
Recordkeeping.....	41.37	41 hrs. , 22 min.
Learning.....	0.40	0 hrs. , 24 min.
Preparing.....	1.09	1 hrs. , 05 min.
Sending.....	0.00	0 hrs. , 00 min.

Notes:

Added 18 line items to correct previous calculation.

Burden Computation - Business Forms

April 1, 2008

Page 1 of 1

Product: 2290SP/

Description: Declaración del Impuesto sobre el Uso de Vehículos Pesados en las

Variables	2005	Changes (+ -)	2008
Responses.....	40,000		40,000
Line Items.....	155	+18	173
Attachments.....	0.00		0.00
Forms Prepared..	0.85		0.85
Code References.	4		4

Computation of Changes

Old Computation (Prog. Change)	40,000	x	38.48	=	1,539,200
New Computation.....	40,000	x	42.86	=	1,714,400
Balance...					+175,200
Old Computation (Adjustment).		x		=	
New Computation.....		x		=	
Balance...					
Old Computation.....		x		=	
New Computation.....		x		=	
Balance...					

Summary

Old Burden.....	1,539,200
Program Change.....	+175,200
Adjustment.....	
New Burden.....	1,714,400

Paperwork Reduction Act Notice

Time Per Response	Average Hours Per Response	Average Time Per Response
42.86		
Recordkeeping.....	41.37	41 hrs. , 22 min.
Learning.....	0.40	0 hrs. , 24 min.
Preparing.....	1.09	1 hrs. , 05 min.
Sending.....	0.00	0 hrs. , 00 min.

Notes:

Added 18 line items to correct previous calculation.

Burden Computation - Business Forms

April 1, 2008

Page 1 of 1

Product: 2290/OVER-THE-COUNT

Description:

Variables	2005	Changes (+ -)	2008
Responses.....	10,000	+20,000	30,000
Line Items.....	4		4
Attachments.....	0.00		0.00
Forms Prepared..	0.85		0.85
Code References.	0		0

Computation of Changes

Old Computation (Prog. Change)	30,000	x	0.97	=	29,100
New Computation.....	30,000	x	0.97	=	29,100
Balance...					0
Old Computation (Adjustment).	10,000	x	0.97	=	9,700
New Computation.....	30,000	x	0.97	=	29,100
Balance...					+19,400
Old Computation.....		x		=	
New Computation.....		x		=	
Balance...					

Summary

Old Burden.....	9,700
Program Change.....	0
Adjustment.....	+19,400
New Burden.....	29,100

Paperwork Reduction Act Notice

Time Per Response	Average Hours Per Response	Average Time Per Response
0.97		
Recordkeeping.....	0.96	0 hrs. , 57 min.
Learning.....	0.00	0 hrs. , 00 min.
Preparing.....	0.02	0 hrs. , 01 min.
Sending.....	0.00	0 hrs. , 00 min.

Notes:

Responses increased to reflect the Statistics of Income (SOI) updated projections attained by the Tax Law Specialist (TLS).

Burden Computation - Business Forms

April 1, 2008

Page 1 of 1

Product: 2290/2290-V Preprinted

Description:

Variables	2005	Changes (+ -)	2008
Responses.....	30,000	+520,000	550,000
Line Items.....	1		1
Attachments.....	0.00		0.00
Forms Prepared..	0.85		0.85
Code References.	0		0

Computation of Changes

Old Computation (Prog. Change)	550,000	x	0.24	=	132,000
New Computation.....	550,000	x	0.24	=	132,000
Balance...					0
Old Computation (Adjustment).	30,000	x	0.24	=	7,200
New Computation.....	550,000	x	0.24	=	132,000
Balance...					+124,800
Old Computation.....		x		=	
New Computation.....		x		=	
Balance...					

Summary

Old Burden.....	7,200
Program Change.....	0
Adjustment.....	+124,800
New Burden.....	132,000

Paperwork Reduction Act Notice

Time Per Response	Average Hours Per Response	Average Time Per Response
0.24		
Recordkeeping.....	0.24	0 hrs. , 14 min.
Learning.....	0.00	0 hrs. , 00 min.
Preparing.....	0.00	0 hrs. , 00 min.
Sending.....	0.00	0 hrs. , 00 min.

Notes:

Responses increased to reflect the Statistics of Income (SOI) updated projections attained by the Tax Law Specialist (TLS).